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3.3 and 3.4 Notes Q)e

e Ex 1):\/Find th\; slope between (-6, 2) and (3, -5) 1
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e The slope of a vertical line is Undeﬁned and the slope of a horizontal line is 2 (1)

e Parallel lines are lines which have the S(hmG/ slope.

e Perpendicular lines are lines which have Qp@gll ? and r@(f[gt_'ggg slopes. The product of these

slopes willbe ™ ,

® If the slopes do not satisfy either of these conditions, then the lines are intersecting lines.

Ex 2) Determine whether (P_Q> and UVare parallel, perpendicular, or neither.
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Writing Equations:
Ex 3.) Write the equation of a line in slope intercept and point slope form which pass through the

points A(0,-3) and B(2,-1)
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Ex 4.) Write the equation of a line in slope intercept AND point-slope form which is parallel to

y+2= Ex and passes through the point (-1,-4)
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Ex 5.) Write the equation of a line in slope intercept AND point-slope form which is pereendicular

to2 = Ex + y and passes through the point (-1,-4). El p +
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